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�;O >F5=820=8O @57C;LB0B>2 >1CG5=8O 8A?>;L7C5BAO G5BK@PE10;L=0O H:0;0: «>B;8G=>», 
«E>@>H>», «C4>2;5B2>@8B5;L=>», «=5C4>2;5B2>@8B5;L=>». 
#5@5G5=L :>=B@>;L=>-87<5@8B5;L=KE <0B5@80;>2 ?@54AB02;5= 2 =865A;54CNI59 B01;8F5.  
 

 

        #5@5G5=L :>=B@>;L=>-87<5@8B5;L=KE <0B5@80;>2 
 

№ !08<5=>20=85 
:>=B@>;L=>-
87<5@8B5;L=KE 
<0B5@80;>2 

�@0B:0O E0@0:B5@8AB8:0 :>=B@>;L=>-
87<5@8B5;L=KE <0B5@80;>2 

#@54AB02;5=85 
:>=B@>;L=>-
87<5@8B5;L=KE 
<0B5@80;>2 2 ��  

                                  &5:CI89 :>=B@>;L CA?5205<>AB8 

1. �K?>;=5=85 
:>=B@>;L=KE 
7040=89 ?> 
>A2>5==>9 B5<5 

%@54AB2> 4;O ?@>25@:8 ?@54<5B=KE 
@57C;LB0B>2 ?> >A2>5==>9 B5<5 
48AF8?;8=K. 
$5:><5=4C5BAO 4;O :>=B@>;O 2;045=8O 
?@54<5B=K<8 @57C;LB0B0<8 ?> 40==>9 
48AF8?;8=5. 

�040=8O ?> B5<0< 
48AF8?;8=K. 

2. �>=B@>;L=0O @01>B0 
(�$) 

%@54AB2> 4;O ?@>25@:8 ?@54<5B=KE 
@57C;LB0B>2 ?> >A2>5==>9 B5<5 
48AF8?;8=K. 
$5:><5=4C5BAO 4;O :>=B@>;O 2;045=8O 
?@54<5B=K<8 @57C;LB0B0<8 ?> 40==>9 
48AF8?;8=5. 

�>=B@>;L=K5 
7040=8O ?> B5<0< 
48AF8?;8=K 

3. �8:B0=B %@54AB2> ?@>25@:8 4>AB865=8O 
?>@>3>2>3> C@>2=O 2;045=8O 
8=>AB@0==K< O7K:><, 
?>72>;ONI53>AO >1CG0NI8<AO 
>1I0BLAO 2 ?8AL<5==>9 D>@<5 :0: A 
=>A8B5;O<8 87CG05<>3> 8=>AB@0==>3> 
O7K:0, B0: 8 A ?@54AB028B5;O<8 4@C38E 
AB@0=, 8A?>;L7CNI8<8 40==K9 O7K: 
:0: A@54AB2> >1I5=8O. 

&5:ABK 48:B0=B>2 

                                         #@><56CB>G=0O 0BB5AB0F8O 
4. �0GPB %@54AB2> 4;O ?@>25@:8 ?@54<5B=KE 

@57C;LB0B>2 ?>  48AF8?;8=5. 
$5:><5=4C5BAO 4;O :>=B@>;O 2;045=8O 
?@54<5B=K<8 @57C;LB0B0<8 ?> 40==>9 
48AF8?;8=5. 

&5AB>2K5 7040=8O : 
70GPBC. 
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�@8B5@88 8 H:0;K >F5=820=8O 2 @57C;LB0B5 87CG5=8O 48AF8?;8=K ?@8 
?@>2545=88 B5:CI53> :>=B@>;O 8 ?@><56CB>G=>9 0BB5AB0F88: 

 

,:0;K >F5=820=8O �@8B5@88 >F5=820=8O 

«>B;8G=>» 

"1CG0NI89AO ?@028;L=> 2K?>;=8; 2A5 7040=8O :>=B@>;L=>9 
@01>BK (B5AB0, C?@06=5=89). �57>H81>G=> 70?8A0; B5:AB 
48:B0=B0 (A;>20@=>3> 48:B0=B0), 2K?>;=8; >B;8G=K9 ?5@52>4 
?@54;>65==>3> 7040=8O. #>:070; >B;8G=>5 2;045=85 7=0=8O<8 > 
A>F8>:C;LBC@=>9 A?5F8D8:5 AB@0=K 87CG05<>3> O7K:0 8 C<5=8N 
AB@>8BL A2>P @5G52>5 8 =5@5G52>5 ?>2545=85 045:20B=> MB>9 
A?5F8D8:5. 

«E>@>H>» 

"1CG0NI89AO E>@>H> 2K?>;=8; 2A5 7040=8O :>=B@>;L=>9 
@01>BK (B5AB0, C?@06=5=89). % =57=0G8B5;L=K< :>;8G5AB2>< 
>H81>: 70?8A0; B5:AB 48:B0=B0 (A;>20@=>3> 48:B0=B0), 
2K?>;=8; E>@>H89 ?5@52>4 ?@54;>65==>3> 7040=8O. #>:070; 
E>@>H55 2;045=85 7=0=8O<8 > A>F8>:C;LBC@=>9 A?5F8D8:5 
AB@0=K 87CG05<>3> O7K:0 8 C<5=8N AB@>8BL A2>P @5G52>5 8 
=5@5G52>5 ?>2545=85 045:20B=> MB>9 A?5F8D8:5. 

«C4>2;5B2>@8B5;L=>» 

"1CG0NI89AO C4>2;5B2>@8B5;L=> 2K?>;=8; 2A5 7040=8O 
:>=B@>;L=>9 @01>BK (B5AB0, C?@06=5=89). % ACI5AB25==K<8 
=5B>G=>ABO<8  70?8A0; B5:AB 48:B0=B0 (A;>20@=>3> 48:B0=B0), 
2K?>;=8; C4>2;5B2>@8B5;L=K9 ?5@52>4 ?@54;>65==>3> 7040=8O. 
#>:070; C4>2;5B2>@8B5;L=>5 2;045=85 7=0=8O<8 > 
A>F8>:C;LBC@=>9 A?5F8D8:5 AB@0=K 87CG05<>3> O7K:0 8 C<5=8N 
AB@>8BL A2>P @5G52>5 8 =5@5G52>5 ?>2545=85 045:20B=> MB>9 
A?5F8D8:5. 

«=5C4>2;5B2>@8B5;L=>» 

"1CG0NI89AO =5C4>2;5B2>@8B5;L=> (A> 7=0G8B5;L=K< 
:>;8G5AB2>< >H81>:) 2K?>;=8; 2A5 7040=8O :>=B@>;L=>9 
@01>BK (B5AB0, C?@06=5=89). !5 A?@028;AO A 70?8ALN  B5:AB0 
48:B0=B0 (A;>20@=>3> 48:B0=B0), =5 2K?>;=8;  ?5@52>4 
?@54;>65==>3> 7040=8O. #>:070; =54>AB0B>G=K9 C@>25=L  
2;045=8O 7=0=8O<8 > A>F8>:C;LBC@=>9 A?5F8D8:5 AB@0=K 
87CG05<>3> O7K:0 8 C<5=8N AB@>8BL A2>P @5G52>5 8 =5@5G52>5 
?>2545=85 045:20B=> MB>9 A?5F8D8:5. 

 

 

#@>3@0<<0 :>=B@>;L=>-87<5@8B5;L=KE <5@>?@8OB89 70 ?5@8>4 87CG5=8O ?> 
48AF8?;8=5 

 

№ !8<5=>20=85 :>=B@>;L=> 
87<5@8B5;L=>3> 
<5@>?@8OB8O 

"1J5:B :>=B@>;O (B5<0) !08<5=>20=85 
>F5=>G=>3> A@54AB20 
(D>@<0 ?@>2545=8O) 

1.1 &5:CI89 :>=B@>;L �2>4=>5 70=OB85. 
�E>4OI89 ;5:A8:>-
3@0<<0B8G5A:89 B5AB. 

�K?>;=5=85 
B5AB>2>3> 7040=8O 
(?8AL<5==>) 

1.2 &5:CI89 :>=B@>;L &5<0: «#>2A54=52=0O 
687=L A5<L8. �=5H=>ABL 8 
E0@0:B5@ G;5=>2 A5<L8» 

�K?>;=5=85 
>F5=>G=>3> 7040=8O 
(?8AL<5==>) 

1.3 &5:CI89 :>=B@>;L &5<0: « >;>456L 2 
A>2@5<5==>< >1I5AB25. 
�>AC3 <>;>4568: 

�K?>;=5=85 
>F5=>G=>3> 7040=8O 
(?8AL<5==>) 
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C2;5G5=8O 8 8=B5@5AK» 
1.4 &5:CI89 :>=B@>;L &5<0: «'A;>28O 

?@>6820=8O 2 3>@>4A:>9 8 
A5;LA:>9 <5AB=>AB8» 

�K?>;=5=85 
>F5=>G=>3> 7040=8O 
(?8AL<5==>) 

1.5 &5:CI89 :>=B@>;L &5<0: «#>:C?:8: >45640, 
>1C2L 8 ?@>4C:BK 

?8B0=8O» 

�K?>;=5=85 
>F5=>G=>3> 7040=8O 
(?8AL<5==>) 

1.6 &5:CI89 :>=B@>;L &5<0: «�4>@>2K9 >1@07 
687=8 8 701>B0 > 74>@>2L5. 
%10;0=A8@>20==>5 
?8B0=85. %?>@B» 

�K?>;=5=85 
>F5=>G=>3> 7040=8O 

(CAB=>) 

1.7 &5:CI89 :>=B@>;L &5<0: «&C@87<. �84K 
>B4KE0» 

�K?>;=5=85 
>F5=>G=>3> 7040=8O 

(?8AL<5==>) 
1.8 &5:CI89 :>=B@>;L &5<0 : « %B@0=K 

87CG05<>3> O7K:0» 
�K?>;=5=85 

>F5=>G=>3> 7040=8O 
(?8AL<5==>) 

1.9 &5:CI89 :>=B@>;L &5<0: «$>AA8O» �K?>;=5=85 
>F5=>G=>3> B5AB0 
(?8AL<5==>) 

1.10 &5:CI89 :>=B@>;L &5<0: « %>2@5<5==K9 <8@ 
?@>D5AA89. #@>1;5<K 
2K1>@0 ?@>D5AA89. $>;L 
8=>AB@0==>3> O7K:0 2 
20H59 ?@>D5AA88 » 

�K?>;=5=85 
>F5=>G=>3> B5AB0 
(?8AL<5==>) 

1.11 &5:CI89 :>=B@>;L &5<0: «#@>1;5<K 
A>2@5<5==>9 
F828;870F88» 

�K?>;=5=85 
>F5=>G=>3> 7040=8O 

(CAB=>) 
1.12 &5:CI89 :>=B@>;L &5<0: «�>AC40@AB25==K5 

CG@5645=8O, 187=5A 8 
CA;C38» 

�K?>;=5=85 
>F5=>G=>3> 7040=8O 
(?8AL<5==>) 

1.13 &5:CI89 :>=B@>;L &5<0: «#@><KH;5==K5 
B5E=>;>388» 

�K?>;=5=85 
>F5=>G=>3> 7040=8O 
(?8AL<5==>) 

1.14 &5:CI89 :>=B@>;L &5<0: «&5E=8G5A:89 
?@>3@5AA: ?5@A?5:B82K 8 
?>A;54AB28O. %>2@5<5==K5 

A@54AB20 A2O78»  

�K?>;=5=85 
>F5=>G=>3> 7040=8O 

(CAB=>) 

1.15 &5:CI89 :>=B@>;L &5<0: «�K40NI85AO ;N48 
@>4=>9 AB@0=K 8 AB@0= 
87CG05<>3> O7K:0» 

�K?>;=5=85 
>F5=>G=>3> 7040=8O 
(?8AL<5==>) 

1.19 #@><56CB>G=0O 0BB5AB0F8O $0745;K 48AF8?;8=K 
�#.06. «�=>AB@0==K9 

O7K:» 

�K?>;=5=85 
8B>3>2>3> ;5:A8:>-
3@0<<0B8G5A:>3> 

B5AB0. 
�8DD5@5=F8@>20==K9 

70GPB. 
 

 

 

 

 



 16 

2. �>=B@>;L=>-87<5@8B5;L=K5 <0B5@80;K 4;O B5:CI53> :>=B@>;O 

 

&5<0 1.1 : « �2>4=>5 70=OB85. �E>4OI89 ;5:A8:>-3@0<<0B8G5A:89 B5AB» 
 

�O?>;=9=89 >F9=>G=>7> 7484=8O (?8AP<9==>) 
 

&5:AB 7040=8O   

�A?@02LB5 2 :064>< ?@54;>65=88 4>?CI5==CN >H81:C (>4=C!) 8 ?5@52548B5 8E =0 
@CAA:89 O7K:. 
Correct the mistakes (only one!) in each sentence and translate them into Russian. 

1. He is an doctor. 

2. They are student. 

3. That are his books. 

4. These are his shoe. 

5. That books are his. 

6. Let he go. 

7. Let she play 

8. I studies English. 

9. He study English. 

10. She know English well. 

11. You is a good musician. 

12. You are a architect. 

13. We will go to Paris last summer. 

14. Can he swims? 

15. Cats like milk. 

16. A cat like milk. 

17. Cats likes milk/ 

18. What do a cat like? 

19. The Petrovs lives in Smolensk. 

20. This are Mr. Smith’s house. 
                                              

 

�$�&�$�� "*�!�� 

,:0;0 >F5=:8 7=0=89: 
0-2 >H81:8 – 5 10;;>2 
3-5 >H81>: – 4 10;;0 
6-7 >H81>: – 3 10;;0 
�>;55 7 >H81>: – 2 10;;0 
�;NG8 

 He is a doctor. – "= - 4>:B>@. 

 They are students. –"=8 – ABC45=BK. 

 These are his books. –1B> 53> :=838. 

 These are his shoes. –1B> 53> :=838. 

 These books are his. – 1B8 :=838 53>. 

 Let him go. – #CABL >= 84PB. 
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 Let her play. – #CABL >=0 83@05B. 

 I study English. – / CGC 0=3;89A:89. 

 He studies English. – "= CG8B 0=3;89A:89. 

 She knows English well. – "=0 7=05B 0=3;89A:89 E>@>H>. 

 You are a good musician. – &K E>@>H89 <C7K:0=B. 

 You are an architect. – &K 0@E8B5:B>@. 

 We will go in Paris next summer. –  K ?>545< 2 #0@86 A;54CNI8< ;5B><. 

 Can he swim? – "= C<55B ?;020BL? 

 Cats like milk. –�>BK ;N1OB <>;>:>. 

 A cat likes milk. – �>B ;N18B <>;>:>. 

 Cats like milk. – �>BK ;N1OB <>;>:>. 

 What does a cat like? – +B> ;N18B :>B? 

 The Petrovs live in Smolensk. – #5B@>2K 682CB 2 %<>;5=A:5. 

 This is Mr. Smith’s house. – 1B> 4>< <8AB5@0 %<8B0. 
 

1:A?5@B=K9 ;8AB 
 

"A2>5==K5 

7=0=8O/C<5=8O 

#>:070B5;L >F5=:8 
@57C;LB0B0 

 

"F5=:0 
 

 

'<5=85 ?>=OBL ?>;=> 

A>45@60=85 ?@54;>65=8O 

�K1>@ ?@028;L=>3> >B25B0 87 

?@54;>65==KE 

 #@028;L=> 2K1@0; >B25B – 1 

10;; 

!5?@028;L=> 2K1@0; >B25B – 0 

10;;>2 

�A53> 20 7040=89 – 20 10;;>2 

�&"�"��/ "*�!��  

Max. – 20 10;;>2 

20-18 10;;>2 – >B;8G=> 

17-15 - E>@>H> 

14-13- C4>2;5B2>@8B5;L=> 

12 8 <5=55 - =5C4>2;5B2>@8B5;L=> 
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&5<0 1.2 «#>2A54=52=0O 687=L A5<L8. �=5H=>ABL 8 E0@0:B5@ G;5=>2 A5<L8» 

 

�O?>;=9=89 >F9=>G=>7> 7484=8O (?8AP<9==>) 
 

ВEF46PF9 BCD989?TAAO= <?< A9BCD989?TAAO= 4DF<>?P, 789 A9B5EB8<@B. 
1. My brother goes to __ school on ___ foot. 

2. ___ night was very dark. We didn’t see ___ moon. 
3. He drinks ____ glass of juice when he feels tired. It helps him. 

4. ___ Alps are very beautiful mountains. You must see them. 

5. Our train crossed ___  bridge.  ___ bridge was very long. 

6. ____ Queen of _____ Britain lives in _____ Buckingham Palace. 

7. He put ___ sugar into his soup by ___ mistake. 

 

К4>B= 4DF<>?P 6O GCBFD95<?< 5O E 6O89?9AAO@< E?B64@<, C9D96B8S A4 4A7?<=E><= 
S;O> E?98GRщ<9 CD98?B:9A<S: 
 

#> C;8F9 H5; G5;>25:. �4@C3 >= C2845; 70 68B@8=>9 :@0A82K9 :>ABN< 8 >AB0=>28;AO. 
К>ABN< 5<C >G5=L ?>=@028;AO. "= @5H8; 709B8 2 <47478= 8 C7=0BL 53> F5=C. 
 

�O?>;=9=89 >F9=>G=>7> 7484=8O (?8AP<9==>) 
 

 4ECD989?<F9 EGщ9EF6<F9?PAO9 CB FDT@ >B?BA>4@ 6 ;46<E<@BEF< BF GF9A<S 
B>BAG4A<S @AB:9EF69AAB7B G<E?4. 
 
Parents, days, shops, clothes, houses, markets, sizes, bridges. 

 

 4E>DB=F9 E>B5><, CBEF46<6 EGщ9EF6<F9?PAB9 6B @AB:9EF69AAB9 G<E?B. �G:AB ?< 6 
QF<E E?GG4SE GCBFD95<FP 4DF<>?P? 

 

1. The boy has fifteen (toy). 

2. Jack knows many foreign (language). 

3. Little (child ) go to the nursery. 

4. Wipe your (foot) when you enter the college. 

5. The (boy) are reading a book. In the picture, they see (goose), (mouse),, (sheep), (ox), 

(pig) and (deer). 

 

 

&5<0 1.3. « >;>456L 2 A>2@5<5==>< >1I5AB25. �>AC3 <>;>4568: C2;5G5=8O, 
8=B5@5AK» 
 

�O?>;=9=89 >F9=>G=>7> 7484=8O (?8AP<9==>) 
 

�9D9698<F9 E?98GRщ<= F9>EF A4 4A7?<=E><= S;O>. 
 
�4@02AB2C9B5!  5=O 7>2CB �5=0.  =5 17 ;5B. / ABC45=B:0 %818@A:>3> :>;;5460 
B@0=A?>@B0 8 AB@>8B5;LAB20.  =5 >G5=L =@028BAO 87CG0BL 0=3;89A:89 – MB> O7K: 
<564C=0@>4=>3> A>B@C4=8G5AB20 8 2KA>:8E B5E=>;>389. 

 

%;>20@=K9 48:B0=B 
 

З4C<E4FP E?B64 A4 4A7?<=E>B@ S;O>9 
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#@>AK?0BLAO (wake up), ?@8=8<0BL 4CH ((take a shower), ?@818@0BL 4>< (clean the house), 

1C4=8 ( week days),  3>B>28BL 54C ( cook the meals), ?>A5I0BL B@5=8@>2:8  (attend trainings), 

>1540BL ( have lunch, have dinner), C68=0BL ( have supper), 45;0BL CB@5==NN 70@O4:C ( do 

morning exercises), @0A?8A0=85 (time-table), 702B@0:0BL (have breakfast), 2KE>4=>9 
(weekend), >4=>3@C??=8: (groupmate), >4520BLAO ( to get dressed). 

 

�O?>;=9=89 >F9=>G=>7> 7484=8O (CAB=>) 
 

�F69FPF9 GEFAB A4 E?98GRщ<9 6BCDBEO 

 

1. Do you have much free time? 

2. What is your favourite hobby? 

3. Why do you like your hobby? 

4. Are there any hobbies you would like to try? 

5. Which hobbies do you think are the most difficult? 

 

 

&5<0 1.4 «'A;>28O ?@>6820=8O 2 3>@>4A:>9 8 A5;LA:>9 <5AB=>AB8» 
 

�O?>;=9=89 >F9=>G=>7> 7484=8O (?8AP<9==>) 
 

�BEF46PF9 > CD98?B:9A<S@ B5щ<9 < EC9F<4?PAO9 6BCDBEO, <ECB?P;GS CD< 
A9B5EB8<@BEF< A9BCD989?TAAB9 @9EFB<@9A<9 any. 

 

1. There is a tea-pot on the table. 2. There are some flowers in the vase. 3. There are some 

English books on the shelf. 4. There is somebody in the garden. 5. There is a lot of milk 

in the jug. 6. There are some pictures on the wall of the room. 6. There is some coffee in 

the cup. 7. There are six continents in the world. 8. There are a lot of flowers in the 

garden. 9. There is something in the box.  10. There are some new words in the text. 

 

�9D9698<F9 CD98?B:9A<S A4 4A7?<=E><= S;O>. 
 

1. � 20H59 A5<L5 5ABL 45B8?  2. !0 C;8F5 <=>3> =0@>4C. 3. � :C2H8=5 =5B <>;>:0. 4. �0 
20H8< 4><>< 5ABL A04?  5. �0 20H8< A04>< 5ABL ?;>I04L, =5 B0: ;8?  6. � 20H5< 
3>@>45 5ABL ?0@:8?  7. !0 AB>;5 >:>;> >:=0 AB>OB F25BK. 8.  >8 :=838 8 B5B@048 =0 
?>;:5. 9. � <>P< AB>;5 =8G53> =5B.  10. +B> B0< =0 AB>;5? &0< AB>8B G0H:0 8 B@8 
AB0:0=0. 11. �ABL :B>-=81C4L 2 A>A54=59 :><=0B5? 
 

�O?>;=9=89 >F9=>G=>7> 7484=8O (?8AP<9==>) 
 

�0?8H8B5 ?>;=>ABLN 20H 04@5A, 8A?>;L7CO A;54CNI85 40==K5. 
 

Building (No.) &&&. 
Block&&&. 
Flat &&&&. 
Entrance&&&.. 

Floor&&&. 
Street &&&& 

Settlement/Village/Town/City&&&.. 
Region &&.. 
Autonomous District &&& 

Postcode &&&.. 
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Country&&&&&. 
 

 

&5<0 1.5  « #>:C?:8: >45640, >1C2L 8 ?@>4C:BK ?8B0=8O» 
 
�O?>;=9=89 >F9=>G=>7> 7484=8O (?8AP<9==>) 
 

�K?8H8B5 87 B5:AB0 2A5 B5@<8=K ?> 40==>9 B5<5 8 >1JOA=8B5 8E 7=0G5=85 
 

The methods of shopping may vary. It may be a self-service shop where the customer goes from 

counter to counter selecting and putting into a basket what he or she wishes to buy. Then he or 

she takes the basket to the check-out counter, where the prices of the purchases are added up. If 

it is not a self-service shop, and most small shops are not, the shop assistant helps the customer 

in finding what he or she wants. You pay money to the cashier and he or she gives you back the 

change. 

 

&5<0 1.9. «�4>@>2K9 >1@07 687=8 8 701>B0 > 74>@>2L5. %10;0=A8@>20==>5 ?8B0=85. 
%?>@B» 
 

�O?>;=9=89 >F9=>G=>7> 7484=8O (?8AP<9==>) 
 

�80;>38G5A:>5 >1I5=85. %>AB02LB5 ?8AL<5==> 480;>3 2 ?0@0E 8A?>;L7CO A;54CNI85 
2>?@>AK. 
 

Do you like to exercise? 

Do you like to watch sports on TV? What are they? 

What is you favourite summer sport? 

What is you favourite winter sport? 

What new sports would you like to try? 

 

#>AB02LB5 3;03>;K go, do, play. �A?>;L7C9B5 8E 2 ?@028;L=>9 D>@<5. 
 

Play is used with ball sports or competitive games. 

Do is used with activities that can be done alone. 

Go is used with activities that end –ing. 

 

1. He &&jogging every morning. 
2. I love &&& a good game of chess from time to time. 
3. She && gymnastics. 
4. This summer we &&. Windsurfing every day on our holiday. 

5. He’s quite the athlete. He & basketball, baseball, and hockey. 
6. My wife & horse riding twice a week. 
7. Why don’t we &&& a set of tennis? 
8. Some people think that &&&. Aerobics four times a week is the best possible way of 

keeping fit. 

9. They wear backpacks when they &&& hiking. 
 

 

&5<0 1.10 «&C@87<. �84K >B4KE0 » 
 

�O?>;=9=89 >F9=>G=>7> B9AB4 (?8AP<9==>) 
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�K?>;=8B5 ?8AL<5==K9 ?5@52>4 B5:AB0 
 

Hop-on/hop-off bus tours, also often known as loop tours, provide a quick and convenient way to 

get an overview of a city. They are frequently used by visitors on their first day or two in a new 

city as it quickly gives them an overview of how the area is laid out, while a tour guide provides 

a history and interesting facts of the city as well. After seeing most of the major sites via the hop-

on/hop-off bus, they can then determine an itinerary for the rest of their stay, deciding which 

area of the city they want to visit again on their own and which sites they would like to see in 

more detail. 

Hop-on/hop-off tours are also used by visitors who only have a very short amount of time in an 

area. The loop tour enables them to cover a lot of ground in a short period of time and experience 

most of major attractions of a city. 

 

 

&5<0 1.11  « %B@0=K 87CG05<>3> O7K:0» 
 

�O?>;=9=89 >F9=>G=>7> 7484=8O (?8AP<9==>) 

 

�0?>;=8B5 ?@>?CA:8 A;>20<8 87 @0<>G:8. 
a. customs and traditions 

b. sheep-breeding 

c. from a cultural aspect 

d. Oxford University 

e. The House of Lords 

f. ships 

g. the Straits of Dover 

h. computing and electronics 

i. varied 

j. the House of Commons 

k. shipyards 

l. textiles 

 

 
1. The British Parliament consists of &&. and &&.. . 
2. Englishmen always respect their &&&&. . 
3. The United Kingdom is separated from the continent by &&&.. . 
4. Many young people from all over the world would like to enter &&&&. . 
5. Agriculture is developed in Scotland, especially &&&&.. . 
6. The climate of the UK is &&&&. . 
7. Liverpool is famous &&&&.. as the Beatles were organized there. 
8. Among British industries the most developed are &&&&. . 
9. Two thirds of the world’s &&&&&. Used to come from UK. 

10. In the early 18
th

 century British &&&&& manufacture was based on wool which 
was processed by individual artisans. 

 

 

&5<0 1.12 «$>AA8O » 
 

�O?>;=9=89 >F9=>G=>7> 7484=8O (CAB=>) 
 

�80;>38G5A:>5 >1I5=85. %>AB02LB5 CAB=> 480;>3 8 @07K3@09B5 53> ?5@54 
>4=>3@C??=8:0<8. �A?>;L7C9B5 A;54CNI85 2>?@>AK. 

 

Are you interested in politics? Why? / Why not? 

How do you stay informed on current events in Russia? 

Do you discuss politics with your friends/relatives? 

Do you have the right to vote? Do you vote? Why / Why not? 
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&5<0 1.13 «%>2@5<5==K9 <8@ ?@>D5AA89. #@>1;5<K 2K1>@0 ?@>D5AA89. $>;L 
8=>AB@0==>3> O7K:0 2 20H59 ?@>D5AA88.» 
 

�O?>;=9=89 >F9=>G=>7> 7484=8O (?8AP<9==>) 
 

#5@52548B5 A;54CNI85 ?@54;>65=8O, >1@0I0O 2=8<0=85 =0 =5>?@545;P==K5 
<5AB>8<5=8O 8 8E ?@>872>4=K5 
 

1. Something important took place there. 

2. Nobody failed in this examination yesterday 

3. I wasn’t shown any interesting photographs. 
4. Have you got any questions? 

5. Can anybody show me the way to the station? 

6. He didn’t try to do anything. 
7. The commission has found nothing wrong. 

8. They made no changes in the working plan. 

9. Nothing interesting happened while I was away. 

10. No traffic was allowed along the street because of the accident. 

11. He could think of nothing really interesting. 

12. Some new safety rules were considered by the committee. 

13. I couldn’t understand anything from his letter. 
14. The old man didn’t get any education. 

 

 

&5<0 1.14  «#@>1;5<K A>2@5<5==>9 F828;870F88» 
 

�O?>;=9=89 >F9=>G=>7> 7484=8O (CAB=>) 
 

$01>B09B5 2 3@C??0E ?> 420 G5;>25:0 8 A>AB02LB5 480;>3, 8A?>;L7CO A;54CNI85 
2>?@>AK. 
 

�D<@9D: - What do you do to preserve natural resources? 

- I use energy-saving bulbs. 

 
Are you interested in ecological questions? 

What do you think is the most important ecological problem? 

What do you do to preserve natural resources? 

Should we use public transport more? 

 

&5<0 1.15 « �>AC40@AB25==K5 CG@5645=8O , 187=5A 8 CA;C38» 
 

�O?>;=9=89 >F9=>G=>7> 7484=8O (?8AP<9==>) 
 

#5@52548B5 ?@54;>65=8O =0 @CAA:89 O7K:, >1@0I0O 2=8<0=85 =0 2@5<O, 2 :>B>@>< 
AB>8B A:07C5<>5. 
 

1. I have attended lectures on history since May. 

2. I attended lectures on history in May. 

3. He has entered the Institute this year. 
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4. He entered the Institute last year. 

5. Have you passed your examination? 

6. Did you pass your examination on Friday well? 

7. He has already returned to Moscow. 

8. He returned to Moscow five days ago. 

9. They haven’t received any good results. 
10. They didn’t receive any good results when they worked with this type of equipment. 
11. The temperature has been maintained at the point of 20 degrees since the beginning of the 

experiment. 

12. During the experiment the temperature was maintained at the point of 20 degrees. 

13. Has the new apparatus been already installed in the laboratory? 

14. When was the new apparatus installed in the laboratory? 

15. The new apparatus had already been installed when the delegation arrived. 

 

 

&5<0 1.16 «#@><KH;5==K5 B5E=>;>388» 
 

�O?>;=9=89 >F9=>G=>7> 7484=8O (CAB=>) 
 

$01>B0 A> A;>20@P<. #@>GB8B5 ?@54;>65=8O, >?@545;8B5 8AE>4=CN D>@<C 
2K45;5==KE A;>2, =07>28B5, :0:>9 G0ABLN @5G8 >=8 O2;ONBAO, 8 =0948B5 
A>>B25BAB2CNI85 7=0G5=8O MB8E A;>2 2 A;>20@5. 
 

1. a) What do you mean by your remark? 

b) She remarked that it was getting dark. 

c) The teacher made no remarks about me report. 

 

2. a) They were discussing current events. 

b) The warm currents in the Atlantic Ocean influence the climate of Great Britain. 

c) The physicist was studying the properties of electric current. 

 

3. a) The force of gravity pulls things towards the earth’s centre. 
b) The force of steam moves the engine. 

c) They forced the enemy to retreat. 

 

4. a) We heard steps outside. 

b) An old man stepped heavily. 

c) The steps were made of stone. 

 

5. a) There was something wrong with the front wheel of the car. 

b) The boys wheeled the vehicle into the yard. 

c) Nobody knows when the wheel was invented. 

 

6. a)  The weight of the snow on the roof caused the house to collapse. 

b) Their son’s failure meant the collapse of his hopes. 

c) The bridge collapsed into the river. 

 

7. a) After a delay of half an hour they started to work. 

b) The street traffic was delayed by the demonstration. 

c) The secretary was asked to answer the letter without delay. 

 

8. a) He always pays his rent in time. 
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b) What pay do you get for work? 

c) I paid much money for a new car. 

 

9. a) The stretch of the road from the airport to the town is to be reconstructed. 

b) A rope was stretched across the room. 

c) She decided to stretch her new shoes by wearing them. 

 

10. a) The documents were handed over the writer who wanted to include them into his 

novel. 

b) It was dark and the mother took her child by the hand. 

c) She was handed the prize for singing. 

 

11. a) The house must be repaired within a year. 

b) The repair of the car cost him a lot of money. 

c) It will not take you long to repair your watch, the repair is done while you wait. 

 

12. a) Speedometer measures the speed of the car. 

b) They took measures to improve the work of the laboratory. 

c) A foot is a measure of length. 

 

 

&5<0 1.17 «&5E=8G5A:89 ?@>3@5AA: ?5@A?5:B82K 8 ?>A;54AB28O. %>2@5<5==K5 
A@54AB20 A2O78» 
 

�O?>;=9=89 >F9=>G=>7> 7484=8O (?8AP<9==>) 
 

#5@52548B5 A;54CNI85 ?@54;>65=8O, >1@0I0O 2=8<0=85 =0 A>AB02=K5 ?@54;>38 

 

1. By means of this device we can carry out more operations in less time. 

2. The work is going on according to the schedule, 

3. The engine didn’t operate well because of bad fuel. 
4. In order to protect the surface from heat and cold it was covered with special substance. 

5. Due to the establishment of new trolley-bus routes the passenger service in the city was 

improved. 

6. The monument was restored in spite of many difficulties. 

7. Who can repair the apparatus instead of him? 

8. No planes took off on that day on account of low clouds. 

9. Is there a high building in front of your house? 

10. Owing to his works not only was the problem solved but a wholly new approach evolved. 

11. The expedition sailed as far as Borneo. 

12. In addition to sails the boat was also supplied with a motor. 

13. In addition to the usual methods of computation they made use of computers. 

 

&5<0 1.18  «�K40NI85AO ;N48 @>4=>9 AB@0=K 8 AB@0= 87CG05<>3> O7K:0» 
 

�O?>;=9=89 >F9=>G=>7> 7484=8O (?8AP<9==>) 
 

'AB0=>28B5, 2 :0:8E ?@54;>65=8OE 40==K5 A;>20 8<5NB C:070==>5 7=0G5=85 
 

1. organized – >@30=87>20==K9 
a) The exhibition is organized by two societies. 

b) The exhibition organized by the two societies was held in London. 
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c) The society of Motor Manufactures organized the exhibition in London. 

 

2. is (to) – 4>;65= 

a)   The equipment is to be supplied by a Japanese firm. 

b) The equipment is being supplied by a Japanese firm. 

c) The equipment is supplied by a Japanese firm. 

 

3. has, have (to) – 4>;65= 

a) The electrical equipment has been manufactured in france. 

b) Electrical equipment of special design has to be manufactured. 

c) They have electrical equipment manufactured in France. 

 

4. manufacturing – ?@>872>4OI89 

a) CAV is a British firm manufacturing diesel engines. 

b) The firm is manufacturing diesel engines for automobiles. 

c) By 2020 the firm will be manufacturing 1-2 million engines a year. 

 

5. experimenting -  M:A?5@8<5=B8@CO 
a) They are experimenting with the new component. 

b) Experimenting with the new component they found out that it was most suitable for road 

surfacing. 

c) The two men started experimenting with the component several years ago. 

 

6. tested -  8A?KB0; 
a) The motor car was tested on the roads. 

b) The firm tested the motor car on the mountain roads. 

c) The motor car was to be tested next spring. 

 

3. �>=B@>;L=>-87<5@8B5;L=K5 <0B5@80;K 4;O  ?@><56CB>G=>9 0BB5AB0F88 

 

&5<0 1.19  �K?>;=5=85 8B>3>2>3> ;5:A8:>-3@0<<0B8G5A:>3> B5AB0. �0GPB=>5 70=OB85. 
 

��  ?@54=07=0G5= 4;O >F5=:8 @57C;LB0B>2 >A2>5=8O CG51=>9 48AF8?;8=K �#.06 
�=>AB@0==K9 O7K: (0=3;89A:89). 
(>@<0 ?@><56CB>G=>9 0BB5AB0F88: :>=B@>;L=0O @01>B0 2 2845 @07=>C@>2=52>3> B5AB0. 
�@5<O 2K?>;=5=8O – 40 <8=CB 
                                        ����!�� ��/ "�''�.Щ��"%/ 

#@54<5B :>=B@>;O: 
�=0=8O: �@B8:;L. %CI5AB28B5;L=>5. +8A;8B5;L=K5.  5AB>8<5=8O. %?@O65=85 >A=>2=KE 
3;03>;>2 to be, to have. �84>2@5<5==K5 D>@<K 3;03>;>2. #@8;030B5;L=K5 (AB5?5=8 
A@02=5=8O). �5:A8:0 ?> B5<5. 
'<5=8O: #>=8<0BL A<KA; ?@>G8B0==>3>. $07;8G0BL 8 C?>B@51;OBL ?@028;L=> 
3@0<<0B8G5A:85 D>@<K. 
�>=B@>;L=0O @01>B0 ?@54AB02;5=0 2 2845 8B>3>2>3> ;5:A8:>-3@0<<0B8G5A:>3> B5AB0 A 
7040=8O<8, B@51CNI8<8 4>?>;=8BL ?@54;>65=8O 8 ?5@525AB8 8E =0 @CAA:89 O7K: 
 

&5:AB 7040=8O 
�>?>;=8B5 8 ?5@52548B5 ?@54;>65=8O =0 @CAA:89 O7K:: 
Complete and translate the sentences into Russian: 

 

1. My sister goes to primary school. She”s very& . 
a. young   b. middle-aged    c.cold 
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2. Kim is my sister’s daughter. She is my & . 
a. nephew   b. niece   c. cousin 

3. He is forty-one. He is & . 
a. young     b. middle-aged   c. old 

4. Their friend Hugo lives in Ottawa. It is in & . 
a. Greeze   b. Canada   c. Brazil 

5. Many people of different nationalities live in the USA now. They are Russian, Brazilian, 

& . 
a. Turkey   b. Tokyo   c. Turkish 

6. How old is Margaret?- &eighteen. 
a. She is   b. They are   c. He is 

7. How old is &? 
a. you brother   b. your brother   c. you 

8. &friends from Argentina. 

a. He   b. His   c. He’s 
9. His &.a student at Mortimer College. 
a. cousin   b. uncles   c. Cousins 

!0. The capital of Australia is & . 
a. Paris   b. Athens   c. Canberra 

11. My aunt Helen is my father’s &. . 
a. cousins   b. sister   c. Brother 

12. The teenage years & between thirteen and nineteen. 

a. is   b. are   c.be 

13. &forty and& from Scotland. 

a. He’s   b. His   c. Hers 
14. We & also good friends. 

a. is   b. be   c. Are 

15. Mary is & than her young sister. 
a. the prettiest   b. prettier   c. pretty 

16. People from Sweden and Norway usually have & . 
a. slanting eyes   b. fair hair   c. dark skin 

17. Their neighbors & the guitar. 

a. has   b. have   c. to have 

18. He & swim well. 

a. can   b. likes   c. like 

19. Our father is the& in the family. 
a. tallest   b. tall   c. Taller 

20. &you ask her not to play violin at night? 
a.Are   b. Have   c. Can 

21. Sometimes she feels herself & than earlier. 
a. more happy   b. happier   c. The happiest 

22. My aunt has a & hairstyle. 
a. modern   b. old-fashioned   c. Her 

23. I like this woman, because, she is always & . 
a. clean-shaven   b. blue-eyed   c. Well-dressed 

24. &. they any distinguishing features. 

a. Have to   b. Have   c. Has 

25. I think, Mr. Smith & ask for any other job. 

a. could   b. could to   c. can to 

26. Her height is 178 cm. She is & . 
a. short   b. tall   c. fat 

27. I don’t like such a bad-tempered & . 
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a. man   b. men   c. mans 

 

 

 

 

 
                                               �$�&�$�� "&�!�� 

�;NG8: 
 

1 a 

2.b 

3.b 

4.b 

5.c 

6.a 

7.b 

8.b 

9.a 

 

10.c 

11.b 

12.b 

13.a 

14.c 

15.b 

16.b 

17.b 

18.a 

19.a 

20.c 

21.b 

22.a 

23.c 

24.b 

25.a 

26.b 

27.a 

 

 

 

                                                                1:A?5@B=K9 ;8AB 
 

"A2>5==K5 C<5=8O #>:070B5;L >F5=:8 
@57C;LB0B0 

"F5=:0 

�>AB865=85 ?>@>3>2>3> 
C@>2=O 2;045=8O 
8=>AB@0==K< O7K:><, 
?>72>;ONI53> 2K?CA:=8:0< 
>1I0BLAO 2 CAB=>9 8 
?8AL<5==>9 D>@<5 A 
=>A8B5;O<8 40==>3> 
8=>AB@0==>3> O7K:0 8 A 
?@54AB028B5;O<8 4@C38E 
AB@0=, 8A?>;L7CNI8<8 
40==K9 8=>AB@0==K9 O7K: 
:0: A@54AB2> >1I5=8O 

�K1>@ ?@028;L=>3> >B25B0 
87 ?@54;>65==KE 

#@028;L=> 2K1@0; >B25B- 1 

10;; 
!5?@028;L=> 2K1@0; >B25B – 
0 10;;>2 
�A53> 27 7040=89 – 27 

10;;>2 

 

�&"�"��/ "&�!�� 

Max -27 10;;>2 

27-25 10;;>2 – >B;8G=> 
24- 22 10;;0 – E>@>H> 
21-19 10;;>2 – C4>2;5B2>@8B5;L=> 
18 8 <5=55 – =5C4>2;5B2>@8B5;L=> 
 

#���& #$�#"����&��/ 

 

'A;>28O 2K?>;=5=8O 7040=89 

�040=85 1. 
�0 :064K9 ?@028;L=K9 >B25B 2 MB>< 7040=88 – 1 10;; 
 0:A8<0;L=>5 :>;8G5AB2> 10;;>2 – 27 
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 0:A8<0;L=>5 2@5<O 2K?>;=5=8O 7040=8O – 40 <8=CB 
"1>@C4>20=85: B5:AB 7040=8O =0 1C<06=>< =>A8B5;5, ;8AB 1C<038, @CG:0 
  

 

&5:AB 7040=8O 
�>?>;=8B5 8 ?5@52548B5 ?@54;>65=8O =0 @CAA:89 O7K:: 
Complete and translate the sentences into Russian: 

 

1. My sister goes to primary school. She”s very& . 
a. young   b. middle-aged    c.cold 

2. Kim is my sister’s daughter. She is my & . 
a. nephew   b. niece   c. cousin 

3. He is forty-one. He is & . 
a. young     b. middle-aged   c. old 

4. Their friend Hugo lives in Ottawa. It is in & . 
a. Greeze   b. Canada   c. Brazil 

5. Many people of different nationalities live in the USA now. They are Russian, Brazilian, 

& . 
a. Turkey   b. Tokyo   c. Turkish 

6. How old is Margaret?- &eighteen. 
a. She is   b. They are   c. He is 

7. How old is &? 
a. you brother   b. your brother   c. you 

8. &friends from Argentina. 
a. He   b. His   c. He’s 
9. His &.a student at Mortimer College. 

a. cousin   b. uncles   c. Cousins 

!0. The capital of Australia is & . 
a. Paris   b. Athens   c. Canberra 

11. My aunt Helen is my father’s &. . 
a. cousins   b. sister   c. Brother 

12. The teenage years & between thirteen and nineteen. 
a. is   b. are   c.be 

13. &forty and& from Scotland. 
a. He’s   b. His   c. Hers 
14. We & also good friends. 
a. is   b. be   c. Are 

15. Mary is & than her young sister. 
a. the prettiest   b. prettier   c. pretty 

16. People from Sweden and Norway usually have & . 
a. slanting eyes   b. fair hair   c. dark skin 

17. Their neighbors & the guitar. 
a. has   b. have   c. to have 

18. He & swim well. 
a. can   b. likes   c. like 

19. Our father is the& in the family. 
a. tallest   b. tall   c. Taller 

20. &you ask her not to play violin at night? 

a.Are   b. Have   c. Can 

21. Sometimes she feels herself & than earlier. 
a. more happy   b. happier   c. The happiest 

22. My aunt has a & hairstyle. 
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a. modern   b. old-fashioned   c. Her 

23. I like this woman, because, she is always & . 
a. clean-shaven   b. blue-eyed   c. Well-dressed 

24. &. they any distinguishing features. 
a. Have to   b. Have   c. Has 

25. I think, Mr. Smith & ask for any other job. 
a. could   b. could to   c. can to 

26. Her height is 178 cm. She is & . 
a. short   b. tall   c. fat 

27. I don’t like such a bad-tempered & . 
a. man   b. men   c. mans 

 

 

�$�&�$�� "&�!�� 

�;NG8: 
 

1 a 

2.b 

3.b 

4.b 

5.c 

6.a 

7.b 

8.b 

9.a 

 

10.c 

11.b 

12.b 

13.a 

14.c 

15.b 

16.b 

17.b 

18.a 

19.a 

20.c 

21.b 

22.a 

23.c 

24.b 

25.a 

26.b 

27.a 
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8=>AB@0==K< O7K:><, 
?>72>;ONI53> 2K?CA:=8:0< 
>1I0BLAO 2 CAB=>9 8 
?8AL<5==>9 D>@<5 A 
=>A8B5;O<8 40==>3> 
8=>AB@0==>3> O7K:0 8 A 
?@54AB028B5;O<8 4@C38E 
AB@0=, 8A?>;L7CNI8<8 
40==K9 8=>AB@0==K9 O7K: 
:0: A@54AB2> >1I5=8O 

�K1>@ ?@028;L=>3> >B25B0 
87 ?@54;>65==KE 

#@028;L=> 2K1@0; >B25B- 1 

10;; 
!5?@028;L=> 2K1@0; >B25B – 
0 10;;>2 
�A53> 27 7040=89 – 27 

10;;>2 

 

�&"�"��/ "&�!�� 

Max -27 10;;>2 

27-25 10;;>2 – >B;8G=> 
24- 22 10;;0 – E>@>H> 
21-19 10;;>2 – C4>2;5B2>@8B5;L=> 
18 8 <5=55 – =5C4>2;5B2>@8B5;L=> 
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�>=B@>;L=0O @01>B0 №2 

 
!07=0G5=85: ��   ?@54=07=0G5=K 4;O >F5=:8 @57C;LB0B>2 >A2>5=8O CG51=>9 
48AF8?;8=K �=>AB@0==K9 O7K: (0=3;89A:89). 
(>@<0 ?@><56CB>G=>9 0BB5AB0F88: :>=B@>;L=0O @01>B0 2 2845 @07=>C@>2=52>3> B5AB0. 
 
                               ����!�� ��/ "�''�.Щ��"%/ 

#@54<5B :>=B@>;O: 
�=0=8O: 'A;>2=>5 =0:;>=5=85. &8?K ?@8;030B5;L=KE. #@54;>38. #@8G0AB85 2. 
%B@040B5;L=K9 70;>3 (=5>?@545;P==K5 2@5<5=0). %>3;0A>20=85 2@5<P=. !5>?@545;P==K5 
<5AB>8<5=8O. �5:A8:0 ?> B5<5. 
'<5=8O: #>=8<0BL A<KA; ?@>G8B0==>3>. $07;8G0BL 8 C?>B@51;OBL ?@028;L=> 
3@0<<0B8G5A:85 D>@<K. 
�>=B@>;L=0O @01>B0 ?@54AB02;5=0 2 2845 8B>3>2>3> ;5:A8:>-3@0<<0B8G5A:>3> B5AB0 A 
7040=8O<8, B@51CNI8<8 2K1@0BL ?@028;L=K9 >B25B 87 ?@54;>65==KE 8 ?5@525AB8 
?@54;>65=8O =0 @CAA:89 O7K:. 
 

&5:AB 7040=8O 
�K15@8B5 ?@028;L=K9 20@80=B >B25B0 8 ?5@52548B5 ?@54;>65=8O =0 @CAA:89 O7K:. 
Choose the right variant and translate the sentences into Russian. 

1. It’s cold today. It was (warm) yesterday. 

a. more warm   b.warmer   c.the warmest 

2. This book is (expensive) than that. 

a. the expensivest   b. the most expensive   c. more expensive 

3. Winter is (cold) of all the seasons. 

a. the coldest   b. a coldest   c. a colder 

4. The house is (old) that one. 

a. as old as   b. older   c. the oldest 

5. Your house isn’t (far) I thought. 
a. farther   b. so far as   c. as farther as 

6. Yesterday we received important information. 

a. ?>;CG0BL   b.?>;CG0;8   A. #>;CG8;8 

7. You should visit them & they need your help. 

a. although   b. because   c. so&that 
8. If the weather (be) fine tomorrow, we are going to the country. 

a. is       b.will be   c.are 

9. If he (buy) a car, he (go) to the Black Sea this summer. 

a. buy, will go   b. buys, will go   c. will buy, go 

10. You should consult the doctor if you (feel) worse. 

a. will feel   b. feels   c. feel 

11. You (stay) at home tonight if the weather is bad? 

a. will stay   c. stay   c. would stay 

12. If I ( find) his addres, I (phone) you. 

a. will find, will phone   b. will find, phone   c. find, will phone 

13. You & not smoke here. 
a. may   b. have to   c. must 

14. You & take care of your health. 
a. should   b. ought to   c. must 

15. Our house & now. 

a. is being repaired   b. is been repaired   c. has being repaired 
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16. The massage &. By e-mail tomorrow. 

a. will be sended   b. will be sent   c. is sent 

17. We knew that our friend (be ill) for several days. 

a. was ill   b. has been ill    c. is ill 

18. He didn’t answer the phone because he (sleep). 

a. was sleeping   b. slept    is sleeping 

19. Don’t take your umbrella. It (not/rain) outside. 

a. rains   b. is not raining   c. rained 

20. It (often/rain) in autumn. 

a. is often raining   b. often rains 

21. We bought our tickets and we (go)  to the cinema tomorrow. 

a. go     b. are going 

22. I &.. a nice flat in a new house. 

a. have got   b. am   c. has got 

23. You have a new suit. It (look) very nice. 

a. look     b. looks 

24. He &. a bicycle, and he is going to buy it. 

a. don’t have    b. isn’t have   c. doesn’t have. 
 

 

 

 
�$�&�$�� "&�!�� 

�;NG8 
 

1. b 

2. c 

3. a 

4. b 

5. b 

6. c 

7. b 

8. a 

9. b 

10. c 
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12. c 

13. a 

14. a 

15. a 

16. b 

17. a 

18. a 

19. b 

20. b 

21. b 

22. a 

23. b 

24. c 
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87 ?@54;>65==KE 

#@028;L=> 2K1@0; >B25B – 1 

10;; 
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0 10;;>2 
�A53> 24 7040=8O – 24 10;;0 
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�B>3>20O >F5=:0: 
 Max – 24 10;;0 
24 10;;0 – >B;8G=> 
23-21 – E>@>H> 
20-13 –C4>2;5B2>@8B5;L=> 
13 8 <5=55 – =5C4>2;5B2>@8B5;L=> 
 

#���& #$�#"����&��/ 

 

�>;8G5AB2> 20@80=B>2 (1) 7040=89 4;O >1CG0NI8EAO. 
 

�@5<O 2K?>;=5=8O 7040=8O – 80 <8=. 
 

&5:AB 7040=8O 
�K15@8B5 ?@028;L=K9 20@80=B >B25B0 8 ?5@52548B5 ?@54;>65=8O =0 @CAA:89 O7K:. 
Choose the right variant and translate the sentences into Russian. 

1. It’s cold today. It was (warm) yesterday. 
a. more warm   b.warmer   c.the warmest 

2. This book is (expensive) than that. 

a. the expensivest   b. the most expensive   c. more expensive 

3. Winter is (cold) of all the seasons. 

a. the coldest   b. a coldest   c. a colder 

4. The house is (old) that one. 

a. as old as   b. older   c. the oldest 

5. Your house isn’t (far) I thought. 
a. farther   b. so far as   c. as farther as 

6. Yesterday we received important information. 

a. ?>;CG0BL   b.?>;CG0;8   A. #>;CG8;8 

7. You should visit them & they need your help. 
a. although   b. because   c. so&that 
8. If the weather (be) fine tomorrow, we are going to the country. 

a. is       b.will be   c.are 

9. If he (buy) a car, he (go) to the Black Sea this summer. 

a. buy, will go   b. buys, will go   c. will buy, go 

10. You should consult the doctor if you (feel) worse. 

a. will feel   b. feels   c. feel 

11. You (stay) at home tonight if the weather is bad? 

a. will stay   c. stay   c. would stay 

12. If I ( find) his addres, I (phone) you. 

a. will find, will phone   b. will find, phone   c. find, will phone 

13. You & not smoke here. 
a. may   b. have to   c. must 

14. You & take care of your health. 
a. should   b. ought to   c. must 

15. Our house & now. 
a. is being repaired   b. is been repaired   c. has being repaired 

16. The massage &. By e-mail tomorrow. 

a. will be sended   b. will be sent   c. is sent 

17. We knew that our friend (be ill) for several days. 

a. was ill   b. has been ill    c. is ill 

18. He didn’t answer the phone because he (sleep). 
a. was sleeping   b. slept    is sleeping 
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19. Don’t take your umbrella. It (not/rain) outside. 
a. rains   b. is not raining   c. rained 

20. It (often/rain) in autumn. 

a. is often raining   b. often rains 

21. We bought our tickets and we (go)  to the cinema tomorrow. 

a. go     b. are going 

22. I &.. a nice flat in a new house. 
a. have got   b. am   c. has got 

23. You have a new suit. It (look) very nice. 

a. look     b. looks 

24. He &. a bicycle, and he is going to buy it. 
a. don’t have    b. isn’t have   c. doesn’t have. 
 

'A;>28O 2K?>;=5=8O 7040=89 
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�B>3>20O >F5=:0: 
 Max – 24 10;;0 
24 10;;0 – >B;8G=> 
23-21 – E>@>H> 
20-13 –C4>2;5B2>@8B5;L=> 
13 8 <5=55 – =5C4>2;5B2>@8B5;L=> 
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�8B5@0BC@0 4;O ?>43>B>2:8 : B5:CI59 8 ?@><56CB>G=>9 0BB5AB0F88: 
 

 

1."A=>2=0O ;8B5@0BC@0:  

1.1 �D0=0AL520 ".�., �C;8 �.,  8E5520 �.�..8 4@. «�=3;89A:89 O7K:. 10 :;0AA. Spotlight 

English.  Student’s Book �07>2K9 C@>25=L. 'G51=8:. �5@B8:0;L. (�"% . 
#@>A25I5=85/�@>D0, 2022 3.  
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 


